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Grade 7 General

Term 3 exam: 2023-2024



Area of Circles

Find the area of the circle shown. Asigall Bilal) dAala 2l
Use 3.14 for m. 3.14 (Goluii T addiu

314,000 cm?
d.




Mean absolute deviation

Consider the distribution shown . ol rasall auigll i)
below. If the mean is 25. Find the 25 (Gl (bl o gial) IS 13
mean absolute deviation MAD of the 22l (alhaal) il alY) Jawgia gl
distribution
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Generate multiple samples

The dot plot graphed below shows AL il o el jLs) A Db 8 clan
scores of 8 students on a short test. colidl Jelly Tedaga s LS daanal) hliill
Find the mean of the students’ scores. il Sl jal wh..n.tl b giall asgl

L] [ ]

L L]

L] L L] L]

Short test scores  uadll LI Silajs

b. _




Make Prediction

A survey found that 8 out of every
10 students have a mobile.
Suppose there are about 450
students at the school. About how

many have a mobile.

gl D 10 JS o o 8 ¢ g5k g
Lk 450 s dua of G e Ciola
¢ data il 4u agia of Lis dupal) B

360




Surface area

Find the formula representing AdlaaY) dalacd) Aaluaal) fiai ) disal) saf
the total surface area of the regular e gal akiiial) a)gdl

pyramid shown.

6.4%x6.4+6.1 cm?

1
6.4%6.4+4 % (6.1 6.4) cm?

1
6.4% 6.4+ (6.1x 6.4) cm*

6.4x6.4+4x(6.1X 6.4)cm?



Area of Composite figure.

Find the area of the figure. LJSEY Aalisa aal




Volume and Surface Area of compaosite Figures

Ali’s lunchbox is shown. How to oLl dauiaga s plabs akadls
find the volume of the lunchbox? Calakl) Abdls aas a3 (i

425in. e

4.25in. b

8in.

ane .

The volume of a rectangular prism + The volume of a triangular
prism

o N s paa e Jplle paa

The volume of a rectangular prism + The volume of a rectangular
prism

(}.lh.lu.n- i ;’ul.l.n“ fP'l'iL-k-lﬂ-l, v ,,uu.." =

The volume of a triangular prism + The volume of a triangular

prism

The volume of a rectangular pyramid + The volume of a

triangular pyramid

DK ap pas i b pas




experimental probability

The relative frequency bar graph below saasYL g.pul" Jhsal @Jl#ll Jaiail) vas
shows 100 randomly selected people are wadd 100 Las) il g olial g 0.4
asked their blood type. What is the ages Alsd (6 agllpes 3 Lilglic g“-sg
experimental probability that a person oadd LY il Jlaal) L 'Eu,25
chosen at random from the group will Alicd A gana (e O 9% ff Lilgas % ;I-:

have type A or type B? ¢Bgl A 2

65%

50%

45%

40%



Theoretical probability of simple event

Red is spun on a spinner with five
equal-size sections labeled red,
yellow, blue, green, and purple.
What is the probability of the

complement of the event?

Uaf et e jasY) Ol Ao CaBgl) o
Al g 2335 @530 aally
tdaall aaie Jis) g4 L

0.80




Compare probabilities of simple events

Suppose the spinner shown(1) is spun ali (1) aagall gagl of Gyl
80 times. Another spinner (2) with four dasjf s (2) AT U .50 80 spgs
equal-size sections labeled red, blue, el o paad 1galll Auludia abudl
yellow, and purple is spun 80 times. The e 80 50988 25 gl < sl
results are recorded in the following ) Jall) LS A Alaas il
frequency bar graphs. Which graph best gl sl saaeyl
Graph 1 ~ Graph2 represents the results that can be expected  gilull Jis Lol g Ay JS2 (o

from the first spinner? the second spinner? ¢ 3l (ajil 209N La il dad gall

0 Red  Bwe  Yelow Pumle 0= Red  Biue Yolow Pumple
Result Resuilt

A ol Il iy 2 JSAly I3 Qe il iy 1 JS

Graph 1 represents the results of first spinner and Graph 2

represents the results of second spinner

Comapdll U8 il iy 1 Jga
b, Graph 1 represents Both of tow spinners

A Ol G Jhay 1 JSBlg J4¥ Qo) gl Jiay 2 JSAN
Graph 2 represents the results of first spinner and Graph 1

. represents the results of second spinner

Ol NS @il Jiay 2SS
d. Graph 2 represents Both of tow spinners




Circumference of circles

Find the radius of a circle with duags 6.28 \ghiaa Byl ki Chuai aagl
a circumference of 6.28 inches. 3,14 (Golusi T a2dlul

Use 3. 14 for m.




The volume

Find the volume of the triangular Lagall (AU ) pdiall aaa dag)

prism shown.

3yd




relative frequency

a spinner with 4 equal sections 890 a1 dugludia aludl 4 ) alda Y32 pap
is spun 100 times. It lands on blue pad¥ly 5 14 @, e AL 5. 100
14 times, green 10 times, yellow Le .5 63 Jaa¥ls 550 13 iy cipe 10
13, and red 63 times. What is the ¢ jeasy) Ll adigl uud) )
relative frequency of landing on

green?

10%

d.




Theoretical probability of simple event

The spinner shown is spun once. -Baaly By pragall sl (el gl A
What is the sample space? ?q.’g.“ shadll sala




Volume

A box is in the shape of rectangular e glida IS5 o (Foia
prism. What the volume of the box? fAgaial) aaa Lo

17 ft?

17 ft3

60 ft3
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